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B.Com. (Part I) Examination
BUSINESS ECONOMICS
Paper : BC-05

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note — Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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What do you mean by Income elasticity of

demand ?
i 1 3 A ¥ ST 1 39 § 7

At what level of output a firm operating

under monopoly attains equilibrium ?

THTIHT & STavd hiaid Ush ®H ScIed & fohd

TR R G Y I T ?

Define explicit costs with example.

TISZ ANTAl hi SATERU |fga aRefoa s |
What is Giffin paradox ?

fiftr =1 fadenarg == § 2
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(v) Which type of land does not get rent

according to Ricardo ?

Reprel & I9R fhd THR &1 4T & T T2
e & 2

(vi) Which type of demand is of factors of

production ?
SR ® WEA HI A fFE YER wF S T2
(vii) Give an example of oligopoly by defining it.
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Section-B 4x7=28
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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. Explain the key characteristics of Business

Economics.
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. Under what situations demand curve may slope

upward from left to right ? Give examples in
support of your answer.
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. Explain the law of diminishing marginal utility

with the help of an illustration and diagram.
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. Explain the characteristics of long-run average cost

curve.
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6. Throw light on the various concepts of national

gug—H
income.
T 3 &1 fafy= STauronstt W g&mT s | SEEMERY)
7. Discuss the liquidity preference theory of interest. fder ;- foFl S ool & SW ST o T W AT stfrekan
e & el 9Tt fag Ft A wifs | 500 w51 H OREifHa wife | T&® 9eH 14 3T
8. “Profits are caused by innovation and disappear £

by initiation.” Elucidate this statement.
10. Explain the various methods of measuring

‘AT FagedT ¥ 3T BT ¥ IR STEW ¥ 9urw o
S ¥ 39 A ot faeer sifsa elasticity of demand with illustrations and

9. How a monopolist determines output and price ? diagrams.

Explain with suitable diagrams.
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Section-C 2x14=28 11. Discuss the law of variable proportions with

(Long Answer Type Questions) suitable example and diagram. Why it operates ?

Note .— Answer any two questions. You have to delimit

, gRedeiia sTuTdl & 7o & Iuge 3/ SR
your each answer maximum up to 500 words.

Each question carries 14 marks. Y@t |ieq sAen HiSe | TE = fHamia e g ?
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12. Distinguish between prime and supplementary costs
with example and diagram. How it helps in
managerial decisions ?

TR AR Y@t Gfed TE SR W Ari & "ed
SR HIST A HY yegwE o H wEEa &
€ ?

13. Examine critically the modern theory of rent.

T & syfTr fagma &1 sTeiemHs Tie FHife |

BC-05/7 (7) TT-454



